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Topic 1 Roots Of The Equations Multiple Choice

Question

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. The solution for the equations

 are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y = 10 and x − y = 2

x = 6

y = 4

x = 4

y = 6

x = 7

y = 3

x = 9

y = 2

https://dl.doubtnut.com/l/_UdQG479HLnuU
https://dl.doubtnut.com/l/_ucCGB04mp3A8


2. One root of the equation 

is 2. Then k is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 5x + k = 0

−6

6

5

5

https://dl.doubtnut.com/l/_ucCGB04mp3A8


3. If the discriminant of quadratic equations

then the roots are:

A. Real and distinct

B. Roosts are equal

C. No real roots

D. Roots are unequal and irrational

Answer: B

Watch Video Solution

b2 − 4ac = 0

https://dl.doubtnut.com/l/_e0BCa6Kh0VOX
https://dl.doubtnut.com/l/_SySyoPao3GiC


4. The roots of the quadratic equations

 are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 5x − 6 = 0

−3 and − 2

3 and 2

6 and − 1

−6 and 1

https://dl.doubtnut.com/l/_SySyoPao3GiC


5. The roots of the quadratic equations

 are:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + bx = 0

0, −
b

a

0, +
b

a

+ , −
b

a

b

a

− , −
b

a

b

a

https://dl.doubtnut.com/l/_mGC3orJrGL8C
https://dl.doubtnut.com/l/_ScF1IDocJS0S


6. If  then the value of x is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x = ,
81

x

−4, 5

±4.5

4.5

±0.45

https://dl.doubtnut.com/l/_ScF1IDocJS0S


7. In the equations  if one

roots is negative of the other then:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax2 + bx + c = 0,

a = 0

b = 0

c = 0

a = c

https://dl.doubtnut.com/l/_wU0r5NMu0oQO
https://dl.doubtnut.com/l/_1UgPRYj5HSko


8. If one of the roots of the equations

 is zero then the other roots is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 5x = 0

0

−5

+5

±5

https://dl.doubtnut.com/l/_1UgPRYj5HSko


9. If  the value of a is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4a = ,
36

a

±9

±3

+3

−3

https://dl.doubtnut.com/l/_gXCfltUFjvDv


10. The roots of a quadratic equations

 when the values of the

coefficient a,b and c are being substitued in

the formula , are

A. 

B. 

C. 

D. 

2k2 − 2k − 5 = 0

k =
−( − 2) ±√( − 2)2 − 4(2)(5)

2

k =
− ±√( − 2)2 − 4(2)( − 5)

2(2)

k =
−( − 2) ±√( − 2)

2
− 4(2)( − 5)

2(2)

k =
2 ±√(2)2 − 4(2)(5)

2(2)

https://dl.doubtnut.com/l/_Q7crFXuI4Fzb


Answer: C

Watch Video Solution

11. The graph of 

interesects at (1,1) and (-2,4) then the roots of

required quadratic equations are:

A. 2 and 2

B. 1 and -2

C. 0 and -2

D. 0 and 4

y = x2 and y = 2 − x

https://dl.doubtnut.com/l/_Q7crFXuI4Fzb
https://dl.doubtnut.com/l/_uffyicg9BKI6


Answer: B

Watch Video Solution

12. If  then c is given by

A. 

B. 

C. 

D. 

Answer: D

a2 = b2 + c2,

+ − √b2 + a2

±√a2 + b2

±√a − b

±√a2 − b2

https://dl.doubtnut.com/l/_uffyicg9BKI6
https://dl.doubtnut.com/l/_WHDhOWtVmK3b


Watch Video Solution

13. One of the positive roots of the equtions

A. 

B. 

C. 

D. 

Answer: A

(2x − 7)(3x − 5) = 0

7
2

2

7

3

5

5

7

https://dl.doubtnut.com/l/_WHDhOWtVmK3b
https://dl.doubtnut.com/l/_beskhFTNM5Yj


Watch Video Solution

14. Value of x in the equations

 is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

px2 + qx + r = 0

−q ± √p2 − 4pq

2p

−q ± √q2 − 4pr

2p

−q ± √r2 − 4pq

2r

−q ± √p2 − 4pq

2p

https://dl.doubtnut.com/l/_beskhFTNM5Yj
https://dl.doubtnut.com/l/_0gyfCR5NwOCi


15. The roots of the quadratic equations

solved in this graphs are: 

A. 

B. 

C. 

+2, − 1

−2, + 1

+2, + 1

https://dl.doubtnut.com/l/_0gyfCR5NwOCi
https://dl.doubtnut.com/l/_zzdJq6X0lHVX


Topic 1 Roots Of The Equations Very Short

Answer Type Questions

D. 

Answer: A

Watch Video Solution

−2, − 1

1. For the equations  ,find the

value of x.

Watch Video Solution

143 = x2 − 1

https://dl.doubtnut.com/l/_zzdJq6X0lHVX
https://dl.doubtnut.com/l/_sOqmUSj3GO6C


Topic 1 Roots Of The Equations Very Short

Answer Type Questions

2. If  , then find an expression for

d.

Watch Video Solution

r2 = l2 + d2

3. If  then find the value of y .

Watch Video Solution

7y = ,
35

y

https://dl.doubtnut.com/l/_sOqmUSj3GO6C
https://dl.doubtnut.com/l/_pE0dNiTcHUuX
https://dl.doubtnut.com/l/_2v0TUrpErw12


1. Five years ago , Gouri was thrice as old as

Ganesh Ten years later Gouri will be twice as

old as Ganesh . How old are Gouri and Ganesh.

Watch Video Solution

2. Solve the equation  by

using formula.

Watch Video Solution

x2 − 12x + 27 = 0

https://dl.doubtnut.com/l/_WnwfPZUhhiWN
https://dl.doubtnut.com/l/_O16WTSgF7bZO


3. Find the value of the discriminant of the

quadratic equation 

Watch Video Solution

2x2 − 4x + 3 = 0

4. If  , then find

the value of x

Watch Video Solution

= 2 +
3x − 4

√3x + 2

√3x − 2

2

https://dl.doubtnut.com/l/_JZ3HohlNktYb
https://dl.doubtnut.com/l/_rrONkc5iVxxY


5. Solve by using formula method

Watch Video Solution

x2 − 2ax + (a + 1)(a − 1) = 0

6. The length of a rectangular playground is 2

m longer then its breadth. If the area of the

playground is 195 sq. m, find the length and

breadth of the field.

Watch Video Solution

https://dl.doubtnut.com/l/_Gd0zxYP1ha4E
https://dl.doubtnut.com/l/_8SSFbF4mkX89
https://dl.doubtnut.com/l/_mJRM358RZpjX


7. Find the roots of the quadratic equation

Watch Video Solution

x2 + 7x + 12 = 0

8. Solve  by the method of

completing the square.

Watch Video Solution

x2 + 6x − 7 = 0

https://dl.doubtnut.com/l/_mJRM358RZpjX
https://dl.doubtnut.com/l/_wci2mrmGruJw


9. Solve the equation by using formula: 

Watch Video Solution

x2 − 4x + 2 = 0

10. Solve by using formula

Watch Video Solution

: 15m2 − 11m + 2 = 0

11. Solve by using the formula 2y2 + 6y = 3.

https://dl.doubtnut.com/l/_989q5oB6Aoau
https://dl.doubtnut.com/l/_9amf73JNMBEJ
https://dl.doubtnut.com/l/_bzZHE0X3bnUM


Watch Video Solution

12. Solve the equations by using the formula : 

Watch Video Solution

m2 − 2m = 2.

13. The length of a rectangular field is 6 times

its breadth. If the area of the field is .

Find its length.

Watch Video Solution

150m2

https://dl.doubtnut.com/l/_bzZHE0X3bnUM
https://dl.doubtnut.com/l/_1bYzvB7S35JU
https://dl.doubtnut.com/l/_T9oJlz6Ydr71


14. Solve the equations  using

the formula.

Watch Video Solution

p2 + 1 = 8p'

15. Solve for x: 

Watch Video Solution

2(x2 − 1) = x(1 − x)

https://dl.doubtnut.com/l/_T9oJlz6Ydr71
https://dl.doubtnut.com/l/_sieIzIe5Z8rU
https://dl.doubtnut.com/l/_qiVNtGdk74I5


16. Solve the equation  by

using the formula .

Watch Video Solution

x2 − 5x + 3 = 0

17. The height of a triangle is 5cm less than the

base. If the area of the triangle is 150 sq. cm ,

find the base.

Watch Video Solution

https://dl.doubtnut.com/l/_F6oKZiloTWbz
https://dl.doubtnut.com/l/_LqtSZKKDnUBL


18. Solve that 

Watch Video Solution

(x − 4)(x + 4) = 6x

19. If Solve for 'a' and also find the

value of 'a' if 

Watch Video Solution

B = ,
√3a2

4

B = 16√3

20. Solve the quadratic equations by

factorisation method:

https://dl.doubtnut.com/l/_DX0RUuiN9s1V
https://dl.doubtnut.com/l/_qMU3FO7wiGeU
https://dl.doubtnut.com/l/_H2YZJfYyD9kL


Topic 1 Roots Of The Equations Long Answer

Type Question I

View Text Solution

1. Shweta takes 6 days less , than the Ankitha

to complete the work. The same work is

completed together in 4 days. How many days

required to complete the work by Ankitha

alone?

Watch Video Solution

https://dl.doubtnut.com/l/_H2YZJfYyD9kL
https://dl.doubtnut.com/l/_I14niKOs4Q6j


2. A concave polygon has 44 diagonals .find

the number of sides of the polygon.

Watch Video Solution

3. Aniruddha bought some books for ` rupes

60 . He had bought 5 more books for the same

amount ,each books would have cost him 1

rupees ,less than . Find the number of books

bought by Aniruddha.

Watch Video Solution

https://dl.doubtnut.com/l/_5nKWvUiwDzNb
https://dl.doubtnut.com/l/_hXnKUPUblutO


4. The ages of Kavya and Karthik are 11 years

and 14 years respectively. In how many years

will the product of their ages will be 304 ?

Watch Video Solution

5. The age of a man is twice the square of the

age of his son . After eight years , the age of

the man will be 4 years more than three times

the age of his son. Find their present age.

Watch Video Solution

https://dl.doubtnut.com/l/_hXnKUPUblutO
https://dl.doubtnut.com/l/_AOejlFCP6mgw
https://dl.doubtnut.com/l/_du9KLhK4tvNb


6. Mohan had brought certain number of

books for rupes 48, If he had bought 4 more

for the same amount , then the cost of each

book would have been reduced by 1 rupee .

Find the number of books bought by him.

Watch Video Solution

7. Three numbers are in the ratio  . If

the sum of their squares is 644 , find the

: :
1

3

1

5

1

6

https://dl.doubtnut.com/l/_du9KLhK4tvNb
https://dl.doubtnut.com/l/_btygqONSJfWL
https://dl.doubtnut.com/l/_j15a9HHC83Yv


numbers.

Watch Video Solution

8. If the sum of two numbers is 18 and the sum

of their squares is 290, Find the numbers

Watch Video Solution

9. A motor boat , whose speed is 15 km /hr in

still water goes 30 km down stream and comes

https://dl.doubtnut.com/l/_j15a9HHC83Yv
https://dl.doubtnut.com/l/_Xb4X603L6HYf
https://dl.doubtnut.com/l/_u9VEMS115JSu


in a total of 4 hours 30 minutes . Determine

the speed of the stream

Watch Video Solution

10. Solve the equation by using formula

 .

Watch Video Solution

x2 − 8x + 1 = 0

11. By selling an article for  a

dealer loses as much percent as its cost price .

rupees18. 74

https://dl.doubtnut.com/l/_u9VEMS115JSu
https://dl.doubtnut.com/l/_8w6KpZeloeOS
https://dl.doubtnut.com/l/_7A6EIAloM3PY


Find the cost price of the article.

Watch Video Solution

12. the perimeter of a right angled triangle is

30 cm and its hypotenuse is 13cm . Find the

length of the other two sides.

Watch Video Solution

13. If the square of number is added to 3 times

the number , the sum is 28. Find the number.

https://dl.doubtnut.com/l/_7A6EIAloM3PY
https://dl.doubtnut.com/l/_Xb2ERu7HyT7H
https://dl.doubtnut.com/l/_irCI6VYfucpp


Watch Video Solution

14. Solve : 

Watch Video Solution

− =
4

m + 2

1

m + 3
4

2m + 1

15. The base of a triangle is 4 cm , longer than

its altitude . If the area of the triangle is 48 sq.

cm Find the altitude.

Watch Video Solution

https://dl.doubtnut.com/l/_irCI6VYfucpp
https://dl.doubtnut.com/l/_OgSFwfLJIjqR
https://dl.doubtnut.com/l/_6oyLA2xqichM
https://dl.doubtnut.com/l/_4rS9PXK1JIre


16. Solve the following quadratic equation by

using the formula method: 

Watch Video Solution

(2x + 3)(3x − 2) + 2 = 0

17. Find two conecutive positive odd number

such that the sum of their squares is equal to

130 .

Watch Video Solution

https://dl.doubtnut.com/l/_4rS9PXK1JIre
https://dl.doubtnut.com/l/_Zar6IHngRd6y
https://dl.doubtnut.com/l/_irRyHvtLnkwl


Topic 1 Roots Of The Equations Long Answer

Type Question Ii

18. Find the whole number such that four

times the number subtracted from three times

the square of the number makes 15.

Watch Video Solution

1. Solve graphically 

Watch Video Solution

x2 − 5x + 6 = 0

https://dl.doubtnut.com/l/_irRyHvtLnkwl
https://dl.doubtnut.com/l/_BwsGVaOqG3kR
https://dl.doubtnut.com/l/_uEkjFNSF9Wny


2. Solve the quadratic equation

 graphically.

Watch Video Solution

x2 + x − 6 = 0

3. A man travels a distance of 196 km by train

and returns in a car which travels at a speed of

21 km/hours more than the train if the total

journey takes 11 hour. Find the average speed

of the train and the car respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_uEkjFNSF9Wny
https://dl.doubtnut.com/l/_fT8aa7HUQu2W


4. Solve graphically 

Watch Video Solution

x2 − 3x − 10 = 0

5. Solve graphically : 

Watch Video Solution

2x2 − x − 3 = 0

6. Solve graphically

Watch Video Solution

: x2 − x − 2 = 0

https://dl.doubtnut.com/l/_vIe7vdgSPSeg
https://dl.doubtnut.com/l/_EgZ7LnDr9nEa
https://dl.doubtnut.com/l/_1F5PCYE39GLx


7. Draw the graph of 

and hence solve the equation :

Watch Video Solution

y = x2 and y = x + 2

x2 − x − 2 = 0

8. The perimeter of a rectangle is 36 cm and its

area is 80 square cm. Find its length and

breadth.

Watch Video Solution

https://dl.doubtnut.com/l/_MufrscPl2Xyl
https://dl.doubtnut.com/l/_fbNTXsUil4B5
https://dl.doubtnut.com/l/_HmKJvaja9mXK


Topic 2 Relation Between Roots And Its

Coefficients And Formation Of Equations

Multiple Choice Questions

9. A sailor can row a boat 8 km downstream

and return back to the starting point in 1 hr.

40 min. If the speed of the stream is 2 km/hr,

find the speed of boat in still water.
Answer

Watch Video Solution

https://dl.doubtnut.com/l/_HmKJvaja9mXK


1. The sum of the roots of the quadratic

equations  is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

ax2 + bx + c = 0

c

a

b

a

−
b

a

a

c

https://dl.doubtnut.com/l/_V19LSUtMKyGa
https://dl.doubtnut.com/l/_ifE2eGKftZyw


2. The product of two consecutive natural

numbers is 12. the form of this statement is :

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

x2 + 2x − 12 = 0

x2 + x − 12 = 0

x2 + x + 12 = 0

x2 + 2x + 12 = 0

https://dl.doubtnut.com/l/_ifE2eGKftZyw


3. The pure quadratic equations in the

following is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

x + = 4
1

x

x + = 0
1

x

x − = 2x
3

4

3x(x − 1) = 0

https://dl.doubtnut.com/l/_8Y0A8xdsmYLh
https://dl.doubtnut.com/l/_bRV2MHx7iN0f


4. The quadratic equations having the roots

 is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

(1 + √2) and (1 − √2)

x2 + 2x + 1 = 0

x2 + 2x − 1 = 0

x2 − 2x − 1 = 0

x2 − 2x + 1 = 0

https://dl.doubtnut.com/l/_bRV2MHx7iN0f


5.  is in the forms of:

A. Adfected quadratic equations

B. Pure quadratic equations

C. Linear equations

D. Simple equations.

Answer: a

Watch Video Solution

x + = 3
1

x

https://dl.doubtnut.com/l/_isa6Z2Efpbpn


6. Which one of the following in not a pure

quadratic equations?

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

x2 + 2 = 6

2m2 = 72

p2 = 9

K2 = K

https://dl.doubtnut.com/l/_DQsTvZzej39j
https://dl.doubtnut.com/l/_5uEcoEA14nVX


7. If a and b are the roots of the equations

, then value of  is :

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

x2 − 5x + 7 = 0 ab(a + b)

5

25

35

49

https://dl.doubtnut.com/l/_5uEcoEA14nVX


8. The sum of a number and twice its square is

78. The correct form is its equation is:

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

x + 2x2 = 78

x + (2x)2 = 78

x2 + 2x = 78

x2 + (2x)2 = 78

https://dl.doubtnut.com/l/_8xz2O7BPvB5c
https://dl.doubtnut.com/l/_6R7C3LuaLmQQ


9. The sum of the roots of the quadratic

equations  is:

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

2x2 = 6x − 5

1

3

5

2

−5

2

3

https://dl.doubtnut.com/l/_6R7C3LuaLmQQ


10. The quadratic equations whose roots are 1

and -1 is:

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

ax2 − x − 1 = 0

ax2 − 1 = 0

x2 = 1

x2 + 1 = 0

https://dl.doubtnut.com/l/_6QS0HnQmbTKb
https://dl.doubtnut.com/l/_ZjbwbHPwO3m7


11. In a quadratic equations

 then it becomes:

A. Pure quadratic equations

B. Adfected quadratic equations

C. Simple linear equations

D. Second degree equations.

Answer: c

Watch Video Solution

ax2 + bx + c = 0, Ifa = 0

https://dl.doubtnut.com/l/_ZjbwbHPwO3m7


12. The sum of a number and its square is 42. It

represent the equations

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

x2 + x + 42 = 0

x2 + x − 42 = 0

2x2 + x − 42 = 0

x2 − x − 42 = 0

https://dl.doubtnut.com/l/_Q5xqvgTo1b4d
https://dl.doubtnut.com/l/_OFqwaZpPTnbf


13. When  is written in the

standard form, then quadratic equations

becomes.

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

2m2 = 2 − m

2m2 + m − 2 = 0

2m2 − m − 2 = 0

2m2 − m + 2 = 0

2m2 + m + 2 = 0

https://dl.doubtnut.com/l/_OFqwaZpPTnbf
https://dl.doubtnut.com/l/_ODW4pHdWK2je


14. If m and n are roots of a quadratic

equation ,then the standard form of quadratic

equations is:

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

x2 + (m + n)x + mn = 0

x2 − (m + n)x − mn = 0

x2 + (m − n)x + mn = 0

x2 − (m + n)x + mn = 0

https://dl.doubtnut.com/l/_ODW4pHdWK2je


15. If m and n are roots of equations

 , then the value of 

is:

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

2x2 − 6x + 1 = 0

m2n + mn2

3

2

2

3

−
3

2

1

2

https://dl.doubtnut.com/l/_0TGFZnvcDoQJ


16. Sum of a number and its reciprocal is 

Then the required equations is :

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

5 .
1

5

y2 + =
1

y

26

5

5y2 − 26y + 5 = 0

y2 + + = 0
1

y

26

5

5y2 + 26y + 5 = 0

https://dl.doubtnut.com/l/_OFI1sGHEdpe6
https://dl.doubtnut.com/l/_7oiIIU5mkdvQ


17. In the equations  if b=0

then the equations.

A. Adfected quadratic equations

B. Pure quadratic equations

C. Linear equations

D. Simultaneous equations.

Answer: b

Watch Video Solution

ax2 + bx + c = 0,

https://dl.doubtnut.com/l/_7oiIIU5mkdvQ


18. The length of a rectangle is 4 cm more then

the breadth. The area is 60 sq. cm This can be

represented as:

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

x + (x + 4) = 60

x + (x + 4) − 60 = 0

(x + 4)x + 60 = 0

(x + 4)x − 60 = 0

https://dl.doubtnut.com/l/_CoWteVDruXMr


19. If the sum of the roots of a quadratic

equations is -5 and the product is 4, the the

equation is:

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

x2 + 5x + 4 = 0

x5 − 5x + 4 = 0

x2 + x − 20 = 0

x2 − x − 20 = 0

https://dl.doubtnut.com/l/_sVYMzPo2dpsK


20. The product of the roots of the equations

 is zero , then k is

equal to

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

x2 + 5x + (k + 4) = 0

−5

−4

4

5

https://dl.doubtnut.com/l/_s84p87PeMjzB


21. The quadratic equations among the

following is :

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

a3 + 3 = 2a

x + 5 = 10

x + 4(x + 1) = 0

y2 =
2

3

https://dl.doubtnut.com/l/_QaKfEfDbj8AJ
https://dl.doubtnut.com/l/_h5vz8tT0SJI6


22. The sum and product of the roots of the

quadratic equation  are

respectively.

A. 1 and 4

B. 0 and 1

C. 0 and 

D. 

Answer: d

Watch Video Solution

4x2 + 1 = 0

−
1

4

0 and
1

4

https://dl.doubtnut.com/l/_h5vz8tT0SJI6
https://dl.doubtnut.com/l/_7Lu09cBEMq6q


23. The hypotenuse of a right-angled triangle

is 13 cm. If one side of the remaining is 5cm

greater than the other, they can be related

with each other as:

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

x + (x + 5) = 13

x2 + (x2 + 5) = 132

x2 + (x + 5)2 = 132

x2 + (5 − x)2 = 132

https://dl.doubtnut.com/l/_7Lu09cBEMq6q


24. If the roots of a quadratic equations are 0

and  the equations is:

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

− ,
1

2

2x2 + x = 0

x2 + = 0
1

2

2x2 + 1 = 0

2x2 − x = 0

https://dl.doubtnut.com/l/_7Lu09cBEMq6q
https://dl.doubtnut.com/l/_Ij9Pi7k311rl


25. Twice the square of a number added to

three times the number is equal to 65. This

statement in the form of equation is:

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

3x2 + 2x = 65

2x2 + 3x = 65

2x2 + 3x2 = 54

3x2 + 2x2 + 65

https://dl.doubtnut.com/l/_95BtVgvm97ym


26. Select the pure quadratic equations:

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

2x + 5 = 13

x2 + 15 = 26x

x2 + 5x

x2 + 2 = 3

https://dl.doubtnut.com/l/_WVhRTB282lCX


27. The roots of an equation are +2 and -2

,then the equations is a/an:

A. Adfected quadratic equations

B. Linear equations

C. Simple linear equations

D. Pure quadratic equations

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_6JLDB30KHdkF
https://dl.doubtnut.com/l/_ImXhhTgrW9nU


28. The height of triangle is 4 cm more than

the base. Its area is 30 sq. cm . This relations

can be represented

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

x(x + 4) = 30

2x(x + 4) = 40

x(x + 4) = 15

x(x + 4) = 60

https://dl.doubtnut.com/l/_ImXhhTgrW9nU
https://dl.doubtnut.com/l/_l7Ivttb6jIMP


29. If an equation has only one root , then the

equations is:

A. Quadratic equations

B. Linear equations

C. Cubic equations

D. Sumultaneous equations

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_l7Ivttb6jIMP


30. If m and n are the roots of the equations

 then the value of  is

:

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

x2 − 6x + 2 = 0 +
1

m

1

n

6

1.5

3

2

https://dl.doubtnut.com/l/_vAd8cL4AHwAi


31. The quadratic equation whose roots are

 is :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

(3 ± √5)

x2 − 6x + 4 = 0

x2 − 3x + 5 = 0

x2 + 3x − 5 = 0

x2 + 6x + 4 = 0

https://dl.doubtnut.com/l/_mXOivF42EeFg
https://dl.doubtnut.com/l/_2iNXLlXG84Ly


32. The sum and product of the roots of the

equations  respectively are:

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

2x2 = 3x,

and 0
3

2

0 and
3

2

+ and 0
15

2

0 and −
15

4

https://dl.doubtnut.com/l/_2iNXLlXG84Ly


33. If the product of the roots of the equations

 is zero then q is equal to :

A. 1

B. 2

C. 3

D. 0

Answer: d

Watch Video Solution

x2 + 3x + q = 0

https://dl.doubtnut.com/l/_hQb1lbzZAzKg
https://dl.doubtnut.com/l/_D9Ps7jbld7bv


34. Parabola is a curve obtained from:

A. Linear equations

B. Cubic equations

C. Quadratic equations

D. Simultaneous equations.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_D9Ps7jbld7bv


35. If m and n are the roots of the quadratic

equations  , then the value of

is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

x2 − 6x + 2 = 0

(m + n)2

36

−36

2

−2

https://dl.doubtnut.com/l/_jUkTfLFKH8jf


Topic 2 Relation Between Roots And Its

Coefficients And Formation Of Equations Very

Short Answer Type Questions

1. Form the quadratic equations whose roots

are 3 and 5.

Watch Video Solution

2. Write the standard form of a quadratic

equations

Watch Video Solution

https://dl.doubtnut.com/l/_RC31k8T9NF45
https://dl.doubtnut.com/l/_F5ihixefkYb0


3. Write the standard form of a quadractic

eqations .

Watch Video Solution

x2 = 2x − 3

4. Find the sum of roots of quadratic

equations 

Watch Video Solution

ax2 + bx + c = 0

https://dl.doubtnut.com/l/_F5ihixefkYb0
https://dl.doubtnut.com/l/_KVRbGlm2MSYv
https://dl.doubtnut.com/l/_2he2UeValf4L


5. Write is the axis of symmetry of the graph

Watch Video Solution

y = x2 ?

6. If m and n are the roots of the equations

 then find the value of 

Watch Video Solution

x2 − 3x + 4 = 0

m2n + mn2

https://dl.doubtnut.com/l/_AIfsPquoW5W8
https://dl.doubtnut.com/l/_2e6KP1SedXU5


7. Write the standard form of the equations

Watch Video Solution

x + = 5.
6

x

8. What is the sum of the roots of the

equations ?

Watch Video Solution

px2 = x − 5

https://dl.doubtnut.com/l/_o7XcYwn5LmVk
https://dl.doubtnut.com/l/_MHnAzve6dHli


Topic 2 Relation Between Roots And Its

Coefficients And Formation Of Equations Short

Answer Type Questions

9. What is the conditions for an equations of

the form  to become a linear

equations?

Watch Video Solution

ax2 + bx + c = 0

1. Find the value of p so that the equations

 has roots whose4x2 − 8px + 9 = 0

https://dl.doubtnut.com/l/_fgz0JAYRf5wW
https://dl.doubtnut.com/l/_Bd3nzrAtw09E


difference is 4.

Watch Video Solution

2. Find the value of q so that the equations

 has one root which is

twice the other.

Watch Video Solution

2x2 − 3qx + 5q = 0

3. If one root of the equations

 is 3 times the other , provex2 + px + q = 0

https://dl.doubtnut.com/l/_Bd3nzrAtw09E
https://dl.doubtnut.com/l/_FEmv49xGelDS
https://dl.doubtnut.com/l/_onu3rwOnyOHC


that 

Watch Video Solution

3p2 = 16q.

4. If m and n are the roots of the quadratic

equations  then find the

value of 

Watch Video Solution

x2 − 3x + 1 = 0,

+
m

n

n

m

5. What is the pure quadratic equations ? Give

one example.

https://dl.doubtnut.com/l/_onu3rwOnyOHC
https://dl.doubtnut.com/l/_E7I4iCYdfPmx
https://dl.doubtnut.com/l/_vuHo6RsMnxeh


Watch Video Solution

6. If m, n are the roots of the equations

 Find the value of 

Watch Video Solution

x2 − 2x + 3 = 0.

+
1

m2

1

n2

7. Form the quadratic equations whose roots

are 

Watch Video Solution

3 + √2 and 3 − √2

https://dl.doubtnut.com/l/_vuHo6RsMnxeh
https://dl.doubtnut.com/l/_5RhU17xBPChG
https://dl.doubtnut.com/l/_BpXfw5WERizO


8. If m and n are the roots of the equations

 Find the value of 

Watch Video Solution

2x2 − 4x + 1 = 0

(m + n)2 + 4mn.

9. Find the value of k so that the equation

 has one root as the

negative of the other.

Watch Video Solution

49x2 − kx − 81 = 0

https://dl.doubtnut.com/l/_BpXfw5WERizO
https://dl.doubtnut.com/l/_UWTC2nUNnWZW
https://dl.doubtnut.com/l/_crpvDhOaJPWD


Topic 2 Relation Between Roots And Its

Coefficients And Formation Of Equations Long

Answer Type Questions Ii

10. What is adfected quadratic equations ?

Write its standard form.

Watch Video Solution

1. If p and q are the roots of the equations

 , find the value of 

Watch Video Solution

x2 − 3x + 2 = 0 −
1

p

1

q

https://dl.doubtnut.com/l/_YkmIczq3iD0U
https://dl.doubtnut.com/l/_aMThOKOPyM9Q


2. Form the quadratic equations whose roots

are the squares of the roots of the equation

Watch Video Solution

x2 − 2x + 4 = 0

3. If 'm' and 'n' are the roots of the equation

 +2=0 , find the value of 

:

Watch Video Solution

x2 − 6x m3n2 + n3m2

https://dl.doubtnut.com/l/_aMThOKOPyM9Q
https://dl.doubtnut.com/l/_q5mbEsAa0Hdq
https://dl.doubtnut.com/l/_nQnM6avr1u7e


Topic 3 Nature Of The Roots And Discriminants

Multiple Choice Questions

1. If  has equal roots. Then c

is equal to :

A. 

B. 

C. 

D. 

ax2 + bx + c = 0

b2

4a

b2

2a

b2

a

−
b2

4a

https://dl.doubtnut.com/l/_nQnM6avr1u7e
https://dl.doubtnut.com/l/_gnkOKptLHwId


Answer: a

Watch Video Solution

2. The value of p for the equation

to have equal roots is:

A. 

B. 

C. 

D. 

x2 − px + 9 = 0

+6

±6

−6

±13

https://dl.doubtnut.com/l/_gnkOKptLHwId
https://dl.doubtnut.com/l/_zRlYfaG3pPE9


Answer: b

Watch Video Solution

3. The value of the discriminant of the solution

is

A. 

B. 

C. 

D. 

4x2 − 4x + 1 = 0

−8

−12

32

0

https://dl.doubtnut.com/l/_zRlYfaG3pPE9
https://dl.doubtnut.com/l/_QhgLW1p9daqS


Answer: d

Watch Video Solution

4. The nature of the roots of the equations

 is decided by:

A. 

B. 

C. 

D. 

ax2 + bx + c = 0

b2 − 4ac

b2 + 4ac

b − 4ac

b + 4ac

https://dl.doubtnut.com/l/_QhgLW1p9daqS
https://dl.doubtnut.com/l/_qj3bip4pc6ma


Answer: a

Watch Video Solution

5. The discriminant of the quadratic equations

 is :

A. 

B. 

C. 

D. 

ax2 + bx + c = 0

−
b

a

b2 − 4ac

c

a

−b ± √b2 − 4ac
2a

https://dl.doubtnut.com/l/_qj3bip4pc6ma
https://dl.doubtnut.com/l/_GwUyzhThW2Fa


Answer: b

Watch Video Solution

6. If the roots of the quadratic equations

 are equal then the value of c

is:

A. 

B. 

C. 

D. 

x2 + 4x + c = 0

3

4

5

12

https://dl.doubtnut.com/l/_GwUyzhThW2Fa
https://dl.doubtnut.com/l/_cNZOHrWeAaRx


Answer: b

Watch Video Solution

7. If the roots of the quadratic equations

 are equal , then the value of m

is

A. 

B. 

C. 

D. 

mx2 = 6x + 1

6

1

−9

5

https://dl.doubtnut.com/l/_cNZOHrWeAaRx
https://dl.doubtnut.com/l/_ZllmG1zpzEZe


Answer: c

Watch Video Solution

8. In a quadratic equations if the value of

 the nature of the roots of the

quadratic equations:

A. Real and equal

B. Real and distnct

C. Imaginary

D. Negative numbers

b2 − 4ac = − 7

https://dl.doubtnut.com/l/_ZllmG1zpzEZe
https://dl.doubtnut.com/l/_vFM1OnsSXFjf


Answer: c

Watch Video Solution

9. If the roots of equations 

are equal then the value of m is:

A. 

B. 

C. 

D. 

x2 − mx + 16 = 0

±4

±16

±2

±8

https://dl.doubtnut.com/l/_vFM1OnsSXFjf
https://dl.doubtnut.com/l/_h9cQWRSEXYsc


Answer: d

Watch Video Solution

10. Roots of the equation  are

:

A. Not real

B. Distinct

C. Equal

D. Zero

x2 − 2x + 1 = 0

https://dl.doubtnut.com/l/_h9cQWRSEXYsc
https://dl.doubtnut.com/l/_a7MZEGBa3Dwt


Answer: c

Watch Video Solution

11. Value of discriminant factor in the

equations  is :

A. 

B. 

C. 

D. 

2x2 = 5x

27

25

23

10

https://dl.doubtnut.com/l/_a7MZEGBa3Dwt
https://dl.doubtnut.com/l/_ce95qK0LBNv2


Answer: b

Watch Video Solution

12. The nature of the roots of the equations

 is :

A. Real and rational

B. Real and irrational

C. Equal

D. Complex

x2 − 6x + 9 = 0

https://dl.doubtnut.com/l/_ce95qK0LBNv2
https://dl.doubtnut.com/l/_iMTKHo85xkqd


Answer: c

Watch Video Solution

13. If the roots of quadratic equations are real

and distinct then which of the following is

correct ?

A. 

B. 

C. 

D. 

Δ > 0

Δ < 0

Δ = 0

Δ ≤ 0

https://dl.doubtnut.com/l/_iMTKHo85xkqd
https://dl.doubtnut.com/l/_GsEgSkgmNnm3


Topic 3 Nature Of The Roots And Discriminants

Very Short Answer Type Questions

Answer: a

Watch Video Solution

1. Write the 'discriminant ' of the equations

Watch Video Solution

ax2 + bx + c = 0

https://dl.doubtnut.com/l/_GsEgSkgmNnm3
https://dl.doubtnut.com/l/_LJgt5GswyjnX


2. If  then find the nature of

roots of quadratic equations

Watch Video Solution

b2 − 4ac > 0,

ax2 + bx + c = 0

3. Find the value of k for which the quadratic

equations  has equal

roots.

Watch Video Solution

9x2 − 24x + k = 0

https://dl.doubtnut.com/l/_25oyQJc31XgV
https://dl.doubtnut.com/l/_1aq8nMEjvSBe
https://dl.doubtnut.com/l/_6qSRyLTGElTz


4. What is the value of k if the equation

 has one root equal to

zero .

Watch Video Solution

x2 + 4x + (k + 2) = 0

5. If the discriminant of a quadratic equations

is less than zero then find its roots.

Watch Video Solution

https://dl.doubtnut.com/l/_6qSRyLTGElTz
https://dl.doubtnut.com/l/_Qodak6Ec7peV


Topic 3 Nature Of The Roots And Discriminants

Short Answer Type Questions

1. What is the nature of the roots of the

quadratic equations  if : 


Watch Video Solution

ax2 + bx + c = 0

b2 − 4ac = 0

2. What is the nature of the roots of the

quadratic equations  if : 
ax2 + bx + c = 0

b2 − 4ac < 0

https://dl.doubtnut.com/l/_BOTjUrTmOjOg
https://dl.doubtnut.com/l/_dCFcjzO3nvva


Watch Video Solution

3. For what value of k, equations

 has equal roots ?

Watch Video Solution

kx2 + 6x + 1 = 0

4. Discuss the nature of roots of the following

equations. 

Watch Video Solution

y2 − 7y + 2 = 0

https://dl.doubtnut.com/l/_dCFcjzO3nvva
https://dl.doubtnut.com/l/_W0mbo69GO9gz
https://dl.doubtnut.com/l/_IdBwvhSZHXJS


5. Discuss the nature of roots of the following

equations. 

Watch Video Solution

x2 − 2x + 3 = 0

6. Discuss the nature of roots of the following

equations. 

Watch Video Solution

2n2 + 5n − 1 = 0

https://dl.doubtnut.com/l/_IdBwvhSZHXJS
https://dl.doubtnut.com/l/_qSPy48uTxnqE
https://dl.doubtnut.com/l/_vAWDPpXAjGv4


7. Discuss the nature of roots of the following

equations. 

Watch Video Solution

a2 + 4a + 4 = 0

8. Discuss the nature of roots of the following

equations. 

Watch Video Solution

x2 + 3x − 4 = 0

https://dl.doubtnut.com/l/_sVx7uWMT0UTq
https://dl.doubtnut.com/l/_HfDtNBxGdXPY
https://dl.doubtnut.com/l/_9kak1fsRK1iG


9. Discuss the nature of roots of the following

equations. 

Watch Video Solution

3d2 − 2d + 1 = 0

10. Find the value of 'p' for which the qudratic

equations have equal roots: 

Watch Video Solution

x2 − px + 9 = 0

https://dl.doubtnut.com/l/_9kak1fsRK1iG
https://dl.doubtnut.com/l/_yJNzQ6xpmqrZ
https://dl.doubtnut.com/l/_5P6OrNOJDJY6


11. Find the value of 'p' for which the qudratic

equations have equal roots: 

Watch Video Solution

2a2 + 3a + p = 0

12. Find the value of 'p' for which the qudratic

equations have equal roots: 

Watch Video Solution

pk2 − 12k + 9 = 0

https://dl.doubtnut.com/l/_5P6OrNOJDJY6
https://dl.doubtnut.com/l/_qcKmxafq01cm


13. Find the value of 'p' for which the qudratic

equations have equal roots: 

Watch Video Solution

2y2 − py + 1 = 0

14. Find the value of 'p' for which the qudratic

equations have equal roots: 

Watch Video Solution

(p + 1)n2 + 2(p + 3)n + (p + 8) = 0

https://dl.doubtnut.com/l/_Z7FEAHnJZNom
https://dl.doubtnut.com/l/_TSbWg9IVcVSN
https://dl.doubtnut.com/l/_ZvgqDR1ojlUK


15. Find the value of 'p' for which the qudratic

equations have equal roots: 

Watch Video Solution

(3p + 1)c2 + 2(p + 1)c + p = 0.

16. For what value of m, roots of the equations

 are equal?

Watch Video Solution

x2 + mx + 4 = 0

https://dl.doubtnut.com/l/_ZvgqDR1ojlUK
https://dl.doubtnut.com/l/_n2AuIs0901Ii


Topic 3 Nature Of The Roots And Discriminants

Long Answer Type Questions I

Textbook Corner Exercise 10 1

1. If the roots of the equations 

 are

equal , then prove that 2b=a+c

Watch Video Solution

(b − c)x2 + (c − a)x + (a − b) = 0

https://dl.doubtnut.com/l/_tpgMrRLBlnuK


1. Check whether the following are quadratic

equations : 

Watch Video Solution

(x + 1)2 = 2(x − 3)

2. Check whether the following are quadratic

equations : 

Watch Video Solution

x2 − 2x = ( − 2)(3 − x)

https://dl.doubtnut.com/l/_B1o3ArJq5iU0
https://dl.doubtnut.com/l/_4qyAoq3AngAq
https://dl.doubtnut.com/l/_KVmtH5jMiGuY


3. Check whether the following are quadratic

equations : 

Watch Video Solution

(x − 2)(x + 1) = (x − 1)(x + 3)

4. Check whether the following are quadratic

equations : 

Watch Video Solution

(x − 3)(2x + 1) = x(x + 5)

https://dl.doubtnut.com/l/_KVmtH5jMiGuY
https://dl.doubtnut.com/l/_gh7STW5QQ7ip
https://dl.doubtnut.com/l/_DZfYrMSVQTZW


5. Check whether the following are quadratic

equations : 

Watch Video Solution

(2x − 1)(x − 3) = (x + 5)(x − 1)

6. Check whether the following are quadratic

equations: 

Watch Video Solution

x2 + 3x + 1 = (x − 2)2

https://dl.doubtnut.com/l/_DZfYrMSVQTZW
https://dl.doubtnut.com/l/_yfKvdWZdGn3k


7. Check whether the following are quadratic

equations : 

Watch Video Solution

(x + 2)3 = 2x(x2 − 1)

8. Check whether the following are quadratic

equations: 

Watch Video Solution

x3 − 4x2 − x + 1 = (x − 2)3

https://dl.doubtnut.com/l/_numqIMTzatg4
https://dl.doubtnut.com/l/_szlX7nDmmkRV
https://dl.doubtnut.com/l/_C0I7baZRpwHu


9. Represent the following situations in the

form of quadratic equations : 

The area of a rectangular plot is  The

length of the plot (in metres) is one more than

twice its breadth. We need to find the length

and breadth of the plot.

Watch Video Solution

528m2

10. Represent the following situations in the

form of quadratic equations : 

https://dl.doubtnut.com/l/_C0I7baZRpwHu
https://dl.doubtnut.com/l/_JfbmlgE3YUKW


The product of two consecutive positive

integers is 306. We need to find the Integers.

Watch Video Solution

11. Represent the following situations in the

form of quadratic equations : 

Rohan's mother is 26 years older than him. The

product of their ages (in years) 3 years from

now will be 360. We would like to find Rohan's

present age.

Watch Video Solution

https://dl.doubtnut.com/l/_JfbmlgE3YUKW
https://dl.doubtnut.com/l/_OQWn3qZY22vm


Textbook Corner Exercise 10 2

12. Represent the following situations in the

form of quadratic equations : 

A train travels a distance of 480 km at a

uniform speed. If the speed had been 8 km/h

less, then it would have taken 3 hours more to

cover the same distance. We need to find the

speed of the train.

Watch Video Solution

https://dl.doubtnut.com/l/_OQWn3qZY22vm
https://dl.doubtnut.com/l/_6rb6dAbsnNij


1. Find the roots of the following quadratic

equations by factorisation : 

Watch Video Solution

x2 − 3x − 10 = 0

2. Find the roots of the following quadratic

equations by factorisation : 

Watch Video Solution

2x2 + x − 6 = 0

https://dl.doubtnut.com/l/_xsM1vFOGxuXs
https://dl.doubtnut.com/l/_nUjRiPHhWqzu
https://dl.doubtnut.com/l/_VKjxLLcpk7vV


3. Find the roots of the following quadratic

equations by factorisation : 

Watch Video Solution

√2x2 + 7x + 5√2 = 0

4. Find the roots of the following quadratic

equations by factorisation : 

Watch Video Solution

2x2 − x + = 0
1

8

https://dl.doubtnut.com/l/_VKjxLLcpk7vV
https://dl.doubtnut.com/l/_BEA5PWPzOLjv
https://dl.doubtnut.com/l/_rLMAUZZ0HsLE


5. Find the roots of the following quadratic

equations by factorisation : 

Watch Video Solution

100x2 − 20x + 1 = 0

6. Solve the problems. 

John and Jivanti together have 45 marbles

.Both of them lost 5 marbles each, and the

product of the number of marbles they now

have is 124. We would like to find out how

many marbles they had to start with.

https://dl.doubtnut.com/l/_rLMAUZZ0HsLE
https://dl.doubtnut.com/l/_pijJ3NGUm0q4


Watch Video Solution

7. Solve the problems. 

A cottage industry produces a certain number

of toys in a day. The cost of production of each

toy (in rupees) was found to be 55 minus the

number of toys produced in a day . On a

particular day, the total cost of production

was 750 We would like to find out the number

of toys produced on that day.

Watch Video Solution

https://dl.doubtnut.com/l/_pijJ3NGUm0q4
https://dl.doubtnut.com/l/_fqnJF2bbhiex


8. Find two numbers whose sum is 27 and

product is 182.

Watch Video Solution

9. Find two consecutive positive integers , sum

of whose squares is 365.

Watch Video Solution

https://dl.doubtnut.com/l/_JwquenepchtM
https://dl.doubtnut.com/l/_edJSOkx29uqP


10. The altitude of a right triangle is 7 cm less

than its base . If the hypotenuse is 13 cm , find

the other two sides.

Watch Video Solution

11. A cottage industry produces a certain

number of pottery articles in a day . It was

observed on a particular day that the cost of

production of each article (in rupees ) was 3

more than twice the number of articles

https://dl.doubtnut.com/l/_Mf0k8FZjjize
https://dl.doubtnut.com/l/_kL9c9KKtvKBL


Textbook Corner Exercise 10 3

produced on that day. If the total cost of

production on that day was 90 , find the

number of articles profit and the cost of each

article.

Watch Video Solution

1. Find the +roots of the quadratic equations

by applying the quadratic formula. 

2x2 − 7x + 3 = 0

https://dl.doubtnut.com/l/_kL9c9KKtvKBL
https://dl.doubtnut.com/l/_i9YOJZwyiqXv


Watch Video Solution

2. Find the +roots of the quadratic equations

by applying the quadratic formula. 

Watch Video Solution

2x2 + x − 4 = 0

3. Find the +roots of the quadratic equations

by applying the quadratic formula. 

4x2 + 4√x + 3 = 0

https://dl.doubtnut.com/l/_i9YOJZwyiqXv
https://dl.doubtnut.com/l/_jTSv1OXLZMkc
https://dl.doubtnut.com/l/_fsBxsGX8ogOS


Watch Video Solution

4. Find the +roots of the quadratic equations

by applying the quadratic formula. 

Watch Video Solution

2x2 + x + 4 = 0

5. Find the roots of the following quadratic

equations , if they exists , by the method of

completing the square. 

2x2 − 7x + 3 = 0

https://dl.doubtnut.com/l/_fsBxsGX8ogOS
https://dl.doubtnut.com/l/_8ptCzk5qbZHb
https://dl.doubtnut.com/l/_7h6HTOInnjAK


Watch Video Solution

6. Find the roots of the following quadratic

equations , if they exists , by the method of

completing the square. 

Watch Video Solution

2x2 + x − 4 = 0

7. Find the roots of the following quadratic

equations , if they exists , by the method of

https://dl.doubtnut.com/l/_7h6HTOInnjAK
https://dl.doubtnut.com/l/_e0U6Upn8RzjV
https://dl.doubtnut.com/l/_a5oyW9MF1ZpQ


completing the square. 

Watch Video Solution

4x2 + 4√3x + 3 = 0

8. Find the roots of the following quadratic

equations , if they exists , by the method of

completing the square. 

Watch Video Solution

2x2 + x + 4 = 0

https://dl.doubtnut.com/l/_a5oyW9MF1ZpQ
https://dl.doubtnut.com/l/_nJHNeIAnSnVw


9. Find the roots of the following equations : 

Watch Video Solution

x − = 3, x ≠ 0
1

x

10. Find the roots of the following quadratic

equations 

Watch Video Solution

− = , x ≠ − 4, 7
1

x + 4

1

x − 7

11

30

https://dl.doubtnut.com/l/_Vb93V4pmAsgL
https://dl.doubtnut.com/l/_LUgSbwn9BoO2


11. The sum of the reciprocals of Rehman's

ages , (in years) 3 years ago and 5 years from

now is  . Find his present age .

Watch Video Solution

1

3

12. In a class test, the sum of Shefali's marks in

Mathematics and English is 30. Had she got 2

marks more in Mathematics and 3 marks less

in English , the product of their marks would

https://dl.doubtnut.com/l/_2gyJRIQc9vnd
https://dl.doubtnut.com/l/_zVkMOS5WcFkf


have been 210. Find her marks in the two

subjects.

Watch Video Solution

13. The diagonal of a rectangular filed is 60

meters more than the shorter side. If the

longer side is 30 meters more than the

shorter side, find the side of the field.

Watch Video Solution

https://dl.doubtnut.com/l/_zVkMOS5WcFkf
https://dl.doubtnut.com/l/_YIQ2AceUQNMW


14. The difference of squares of two number is

180. The square, of smaller number is 8 times

the larger number find the two number.

Watch Video Solution

15. A train travels 360 km at a uniform speed. If

the speed had been 5 km /h more, it would

have taken 1 hour less for the same journey.

Find the speed of the train.

Watch Video Solution

https://dl.doubtnut.com/l/_MPCkE8CK49cr
https://dl.doubtnut.com/l/_Gy3iGDJwkQr9


16. Two water taps together can fill a tank in

 hours. 

The tap of larger diameter takes 10 hours less

than the smaller one to fill the tank separately.

Find the time in which each tap can separately

fill in tha tank.

Watch Video Solution

9
3

8

17. An express train takes 1 hour less than a

passenger train to travel 132 km between

https://dl.doubtnut.com/l/_Gy3iGDJwkQr9
https://dl.doubtnut.com/l/_Ro4l9BA0ZEH3
https://dl.doubtnut.com/l/_68XmDXoCQ3Rh


Mysore and Bangalore (without taking into

consideration the time they stop at

intermediate stations ). If the average speed of

the express train is 11km/h more than that of

the passenger train , find the average speed of

the two trains.

Watch Video Solution

18. Sum of the areas of two squares is  .

If the difference of their perimeters is 24m ,

Find the sides of the two squares.

468m2

https://dl.doubtnut.com/l/_68XmDXoCQ3Rh
https://dl.doubtnut.com/l/_2oTXHjkiwbTN


Textbook Corner Exercise 10 4

Watch Video Solution

1. Find the nature of the roots of the following

quadratic equation . If the real roots exits ,

find them. 

Watch Video Solution

2x2 − 3x + 5 = 0

https://dl.doubtnut.com/l/_2oTXHjkiwbTN
https://dl.doubtnut.com/l/_qnshSU7b5U81


2. Find the nature of the roots of the following

quadratic equation . If the real roots exits ,

find them. 

Watch Video Solution

3x2 − 4√3x + 4 = 0

3. Find the nature of the roots of the following

quadratic equation . If the real roots exits ,

find them. 

2x2 − 6x + 3 = 0

https://dl.doubtnut.com/l/_qRATEX5h2iID
https://dl.doubtnut.com/l/_6erVjmbOgMMZ


Watch Video Solution

4. Find the value of k for each of the following

quadratic equations , so that they have two

equal roots. 

Watch Video Solution

2x2 + kx + 3 = 0

5. Find the value of k for each of the following

quadratic equations , so that they have two

https://dl.doubtnut.com/l/_6erVjmbOgMMZ
https://dl.doubtnut.com/l/_LmMDI7S7UFSl
https://dl.doubtnut.com/l/_uKKdzAijdJ5s


equal roots. 

Watch Video Solution

kx(x − 2) + 6 = 0

6. Is it possible to design a rectangular mango

grove whose length is twice its breadth, and

the area is ? If so, find its length and

breadth.

Watch Video Solution

800m2

https://dl.doubtnut.com/l/_uKKdzAijdJ5s
https://dl.doubtnut.com/l/_UVC2AoguwhPj


7. Is the following situation possible? If so,

determine their present ages. The sum of the

ages of two friends is 20 years. 

Four years ago, the product of their ages in

years was 48.

Watch Video Solution

8. Is it possible to design a rectangular park of

perimeter 80 m and area ? If so, find its

length and breadth.

400m2

https://dl.doubtnut.com/l/_gZ9WkSxKVOnJ
https://dl.doubtnut.com/l/_H8gQlWbsa0Dv


Watch Video Solution

https://dl.doubtnut.com/l/_H8gQlWbsa0Dv

